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9:30 |/NESE(HE) 80mHR 34

9:35 |/NE6FE(FH)  80mHR 34

9:40 |/NESHE(Z)  80mHR 24

9:45 |/INEE6F(K)  80mHR 64

9:55 [rh=a(8) 4x100mRFE(35+2) 12F—L 248 (1000 /NF(B-%) EIEHE 1000 —fig-F# (B - %) Atk
10:05 [ (%) 800m¥ 104 (375+24) 2% gg%; sg iggi; 22
10:15 [/NE6- 54 () 800miR 6484 gﬁiﬁii ‘3‘2

10:20 |/N#6-5% () 800miR 13%4-34

10:30 [—H% (5) 5000mik 2%

10:55 | —#% (8) 100m¥% (3F+24)164 24

11:05 | R (58) 100mF (B4 LL—RF5R) 748 1~54]11:00 /N2(R-&) ESB 11:00 /MR- &) Do _RYwoR—IL i
11:20 |t () B £ 6~9tl Siﬁii QE 22%3 1514?
11:35 | h (%) 100m¥ (B1 LL—XFR)50% 64H SF(X) 1% giﬁii ?2
11:55 | /N4 5 (%K) 100m¥ (B LL—RFR)274 34H

12:05 [/NESE (%) 100m¥F (AA LL—RFE)104 248

12:15 |V AL (B) 100mF (A LL—RAFE) 214 34H

12:25 [/NS64E (B) 100mF (BALL—RFR)108 24H [12:20 s (B) ElEdk

12:35 | — % (B) 1500m¥ (5%+6%)34% 24 FEFR) 178 (1230 — - che (B - %) A
1255 |2 () 200m¥  (sH+28)168 24 Ig;i% 2%
13:05 /N5 (L) 4X100mRR (4F—L) Tl oo
13:10 [/N26E(X) 4X100mRIR (7F—L)

13:15 [/NEBHE(B)  4X100mRiR (2F—L)

13:20 [/NE6E(B) 4X100mRiR (8F—L)

13:25 |—f - (%) 800miR 1%-8%

13:40 |—f& (8) 110mHR 14 13:40 —fi%(B) -FFE(B-K)EEB

13:45 (R (5) 110mHiR 84 —f2(B) 14

13:55 [—#& (%) 100mHR 14 iggig SE

14:00 (% (&) 100mHiR 74 1400 —f&(B-)NVv—#&
14:10 |2 (%) 100miR 8% Zgﬁﬁiﬁ 52
14:15 [ch2E (5) 100mik 84

14:20 |/N24AE (&) 100mik 84

14:25 [/NEB4E (%) 100mik 8%

14:30 |/NE6 5 (&) 100mik 94

14:35 |INFAE(B) 100mik 84

14:40 |/NE5 5 (B) 100miR 34

14:45 |INE6E (B) 100mik 84 14:45 HZ (%) FENEBE

14:50 [—f% (5) 100miR 84 i (&K) 948

14:55 | —fig (%) 100mik 34

15:00 [RZ 8% (5) 100miR 14 15:30 —fi% (5B -%&) vy

15:05 | —f% (8) 400mik 14 —f&(5H) 4%
15:10 |[— % (%) 1500mik 34 —#G0) 2%
15:20 | —f% (8) 1500mik 164

15:30 (1% (%) 200miR 84

15:35 [FhZE () 200mik 8%

15:40 [—fi% (%) 200miR 24

15:45 | —f% (8) 200mik 8%

15:50 |15 #5) 3000mik }‘%%'3%

16:10 |52 (%) 4X100mRIR (TF—L)

16:15 | (5) 4x100mRR (8F—L)
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